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THE ENGLISH PROFICIENCY
MODEL TEST (Test 1)

Paper One

Part I: Grammatical Structure (20 minutes)

Section A (1 mark cach)

Directions: There are 10 items in this section. There are

four words or phrases marked A, B, C, and D beneath

each sentence. Choose the one word or phrase that best

completes the sentence. Mark your answer by blackening the

corresponding letter on the Answer Sheet with a pencil.
Example: I avoided his hand outstretched to

assist me as I stepped out of the boat.

to touch ‘

touching

that I touched

to be touching

gawp

Sample Answer
A @ CD

1. We have made a few friends,
to their homes.
A. and who 1\ C. who
B. who they  D. whom

often invite us



9.

. It was almost dark in the streets

. He often attends public lectures at the University

of California, chiefly his English.
A. to improve C. for the purpose of
B. as to improve D. having improved

a few wvery

powerful ‘spotlights.
A. excluding C. except
B. but for D. except for

. The design changes were not, in fact, either reported

reviewed by city building inspectors.

A. nor G, or
B. and not D. but not |
. It is high time that class legislation _____ here.
A. must cease C. be ceased
B. ceased - D. ceases

Ironically, sails were the salvation of many steamships
mechanical failures. |
A. they suffered - C. were suffered

B. suffered .~'D. that had suffered

some mammals came to live in the sea is not

known.
A. Which C. Although
B. Since v D. How

. Rich tobacco and champion race horses have ___ . .
of Kentucky. | |

--A. long been symbols C. symbols been long
B. been long symbols D. long symbols been
Until the mid-1970s, smugglers shipped millions of
tons of marijuana and cocaine to the United States
without

.

A. being paid -.-B. being'disco.vlercd

2 o



C. them being punished D. any charge
10. He with Paul Castro at least four times in the

past three years.
A. has been secen met C. was to meet

B. had seen meeting - D. had been seen meeting

Section B (1 mark each)

Directions: There are 10 sentences in this section. Each
sentence has four parts underlined. The four underlined
parts are marked by A, B, C, and D. Identify the one under-
lined part that is wrong. Mark your answer by blackening
the corresponding letter on the Answer Sheet with a pencil.
Example It was during the 1920s that the friendship
AT

between my ¢ father and your father reached
B

their highest point.
C D S

Sample Answer

A B @ D

Answer C “their” is wrong because the sentence should
read, ‘It was during the 1920s that the friendship between
my father and your father reached ifs h1ghest pomt So
you should choose C.

11. Americans place far more emphasis on a good family
A S B
life as on having a high income, material possessions
LD

or social recognitien.




12.

13.

14.

15.

16.

17.

18.

Walt Disney always said that the secret of making dreams
A

come true could be summarized in confidence, courage,
B C '

constancy and being currious.

D

Originally, we were scheduled to leave for Teheran

| A - '
in early summer, but delayed to depart because of
B s
an unexpected incident.

D |
Rarely before the prospect of a large federal deficit
' A
has generated as much alarm as has occurred since
B G D

Mr Reagan took office.
Roger Murgatroyd raised early and sat on the hotel-

A B
room balcony, watching the sun ride up the Indian
¢ D
Ocean. |
By 1642 all towns in the colony of Massachusetts
A | B
was required by law to have schools.
C D
Dairy farm is carried on in all parts of the United
A B C D
- States.

Even though it may be the most harmless of snakes,
AT B C




-1 -am not enthused about having it in a cage in my

D
room.
19. They’re the ones who assert that a better bridge could
A B
be built had we }__@é their assistance.
NG D -
90. Realising how little I had been able to accomplish ,_
A B
my fears of failure grew rapidly, robbing me of what
C {

little confidence 1 had had.

Part II: Vocabulary and Reading Comprehen-
sion (60 minutes) |

Section A Vocabulary (1 mark each)

Directions: There are 20 questions in this section. Each

sentence has a word or phrase underlined. There are four

other words or phrases beneath each sentence. Choose the

one word or phrase which would best keep the meaning of the
original sentence if it were substituted for the underlined part.
Mark your choice by blackening the corresponding letter on
the Answer Sheet with a pencil.
Example: The operation carries such risks as infections

and blood clots.

A. manners

B. dangers

C. damages

D. hardship

Sample Answer
A @ C D

- 5 -



The best answer is “B’’ because ‘‘dangers” has the same
meaning as ‘‘risks” in the sentence.

21.

22.

23.

24.

25.

26.

Loud noises can be annoying.

A. hateful C. unnerving
B. painful D. irritating
Because of setbacks like these, the Postal Service is in

trouble today.

A. failures C. dishonesty

B. sufferings  D. ignorance

The new program would be strictly voluntary, aimed

primarily at large mailers.

A. sensual C. unforced

B. ineffectual D. unintentional

We have to adapt to electronic communications or
eventually be overwhelmed by them.

A. steered - . C. conquered

B. conceded D. exhausted

Memory of that gruesome night remains very much
on people’s minds in Kansas City.

A. unforgetable = C. glimering

B. gloomy D. horrible

The number of missing children in the United States is

~ appalling.

27.

A. increasing  C. surprising
B. shocking D. incredible

The Great Wall is one of the world’s most magnificent
engineering feats.

A. achievements C. honor
B. miracles D. wonders

G =



28.

29,

30.

31.

32.

33.

34.

35.

Architects used whatever materials were at hand to build
the tower.

A. useful C. available nearby

B. easy to get  D. within the reach

The first step in planning a marketing strategy for a new
product is to analyze the breakdown of sales figures for

competitive products. |

A. decrease in C. itemization of

B. recordering of = D. collapse in

Human - facial expressions differ from those of animals
in the degree to which they can be deliberately controlled
and modified.

A. both C. absolutely

B. noticeably  D. intentionally

He gave out that he would come to my headquarters and
investigate the matter.

A. announced:  C. distributed

B. donated D. said :
I shall stick at the job until I’ve finished it,
A. adhere to C. preserve

B. hesitate in  D. stand for

Almost all economists agree that nations gain by trading
with one another. . |

A. cooperate C. become more stable

B. profit D. become more dependent

Below 600 feet, ocean waters range from dlmly lit to
completely dark.

A. perversely C. faintly

B. erratically = D. sufficiently :

The Constitution’s vague nature has given it the flexibi-

» 7 e



36.

37.

38.

39.

40.

L

t
f

lity to be adapted when circumstances change.

A, 1mprecise C. unpolished

B. diffuse D. elementary

Scientists are discovering that certain colors do indeed
have a profound influence on our lives.

A. power C. significance

B. affect D. effect

Recent discoveries have given astonishing insights into

the complexity of eyesight.
A. explanations about C. brightness of
B. understandings of D. solution to

When problems such as energy crisis, inflation and
population explosion arise, people are asked to bite the

bullet. . |
A. live with the unfalr decisions

B. share the bitterness. and endure the hardshlp
C. give up their wealth

D. stop earning money

You should not indulge yourgelf in the habit of lying late
in bed. | "

A. take to such intemperate

B. allow yourself for the

C. be self-content with the

D. complain about

Being in town lately, 1 avaﬂf:d myself of the opportunity

to visit the shops.
A. scope C. occasion
B. range D. chance

8



Section B Reading Comprehension (1 mark each)
Directions: In this section there are passages followed by
questions or unfinished statements, each with four suggested
answers. Choose the one you think is the best answer. Mark
your answer by blackening the corresponding letter on the
Answer Sheet with a pencil.

Questions 41-44 are based on the following passage:

The very success of communications satellite systems
has raised mdespread concern about their future. Some
countries are already using satellites for domestic  commu-
nications in place of conventional telephone lines on land.
Although this technique is extremely useful for 11nk1ng
widely scattered villages in remote or mountainous regmns,
in heavily built-up areas where extensive telephone and
telegraph . systems already exist, domestic satellites (or
“domsats’) are seen by the land-line networks as unfair
competition. Desplte such opposition, domsats are galmng
support from many businesses and public interest groups in
the United States, and seem likely to be more w1dc1y utlhzed
in the future.

41. The passage mentions which of the following as'a major

advantage of domsats?

A. They are inexpensive to operate.

B. They easily connect distant points.

C. They can be directed by remote control.
D. They can be built to be very light.

42. According to the passage, the use of domsats is especially
valuable for which of the following?



A. Mountain areas  C. Small countries
B. Busy cities D. Private businesses
43. Who objects to the use of domsats ?
A. Managers of international business groups.
B. People in small villages. |
C. Operators of conventional communications systems
D. Large public interest groups.
44. According to the passage, future United States domsats
will probably |
A. be produced competitively.
B. carry telephone messages only.
~ C. become a government monopoly.
' D. 1ncrease in use.

Questions 45-48 are based on the following passage:

In 1971 an average postal employee earned $10,187
in wages and fringe benefits. Today the figure is $24,399,
and by 1984 it will be $28,000. To help finance these ris-
ing costs, the Postal Service has increased its rates six times in
the last decade. The first-class stamp that cost six cents in
1971 costs 20 cents today—an increase of 233 pcrccnt—almost
double the rise in the cost of living for the same period. The
cost of second-class mail has skyrocketed by nearly 500 per-
cent.

For all its costs and service problems, it’s much too
early to consign the Postal Service to the deadletter file —
largely because of one man: In the four years William F.
Bolger has served as Postmaster General, he has presided over
the biggest volume increase in postal history, prevailed in
tough bargaining sessions that prevented a nationwide strike
last year, and spurred the use of modern technology. Almost

e 10 e



everyone agrees that he has been the most effective Postmaster
General in recent memory.

45,

46.

47,

48.

The increased rates of the postal service in the last ten
years were largely due to

A. the rise in the cost of living.

B. William F. Bolger, the Postmaster General.

C. the refusal of utilizing modern technology.

»'D. the rapid increase in wages and other benefits of the

- postal employees.

If you paid 50 cents to mail ten second-class letters in

1971 today you would have to pay
A.$20 B.3$2.5  C.$2.33 D. $25

What do the Americans think of William F. Bolgcr ?

A. He was quite a nuisance,

B. He Was no better than his predecessors.

C. He was capable and competent as the Postmaster
‘General. |

D. He was responsible for an unsuccessful strike,

Which of the following statements about Bolger is NOT

true ?

A. Through William F. Bolger’s" efforts, a nationwidc
strike was finally prevented.

B. William F. Bolger scrved a four-year tcrm a.s the

" Postmaster General.

C. Never before in postal history has any man like
~ Bolger helped to gain the biggest volume increase.
D. Bolger’s only error was to refuse to use modern

technology in postal service.

~ Questions 49-53 are based on the following advertise-

11 .



